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AGRICULTURE (Theory)
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General Instructions :
(i) All questions are compulsory.
(it)  Marks for questions are indicated against each of them.
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fretafga w wftreg fewformr fofem - 1x5=5

G)  “Argeprusen,” Sfa-39teh & Y § Tsh Ied IiNeh-a |

(i) ~ 3cdTeehdl TF Uifteshal i gfte & “Reprs” o “Wfaes @l # IR T
T |

(iii) oH-hIIE AN - T 30 Gd | ST i [ty =1 gag d faRau |

(iv) “mEr” vd “Gea-Hadq’ St sl HEd Hrs ST hl AfhATE 7, H 3HR
Tee ST |

(v) HNd ¥ 379 75 1 $A Icaed 80 FfeT™ 7 il R H T 2 | 3T
AL F1 & ? faRau |

Write short notes on the following :

(1) “Mycorrhiza,” a bio-fertilizer plant nutrient.

(ii)  Differentiate between “sustainable” and “organic farming” with

reference to productivity and nutritive value.

(iii)  Process of preparation of vermi-compost and its application in the
field.

(iv)  Differentiate between the post-harvest processes of “threshing”

and “value-addition”.

(v)  Total wheat production in India has now crossed 80 million tons.
What is the next target ? Write.

T o <t qfd i 1x56=5

i) R &3 9 HEAd & &l Wdl (BHA IcqTE) Ty
anefia B |

(i) YR & ST T | 3R
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(iv) ToRId % R8T FToR 61 @l 319 WH-Rg | AT H o & =1 6

3% 39 kg Uyt Ao 8 S A B A 7 |
(v) fo=m8 &g o= ST T JAN FREHT T 39 T T
BT & Sel Fal (qfae) ST @ g g |
Fill in the blanks :
(1) The area where crop production is dependent on ,

is called rainfed area.

(ii)) In the North-western States of India, two crops namely

and produce ample

food grain sufficient for the whole year.

(iii) is the only nitrogenous fertilizer used by

majority of farmers for their crop production.

(iv) Farmers of Gujarat are now growing bajra crop during summer
season because they are now getting sufficient amount of

water during this season.

(v)  In areas where subsoil water is alkaline, farmers generally follow

for irrigation.

() s @t T Tearfad HE ¥ WRA THR gRI FI1 Hed 33T T 8 2
T8 § IR AT | 2%
(i) ‘W @ FEA gglaAl I TRATYG HIVT | g 39 gHT Tgfadi | g
I B, A AT T | 2é

1) What steps have been taken by the Government of India to
promote organic farming ? Answer in brief.

(i1)  Define ‘farming’ and ‘cropping’ systems. If there is difference
between the two systems, explain it.
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“geft a1g It T’ v ‘gz g e ufkaet § @ T i |
AT Td g @R H @dt § wE-d fafy swenft fag gt 2 wew o
fetfag |

Differentiate between “flood irrigation” and “furrow irrigation” systems.
Write in brief which systems will be useful for horticultural and major
cereal crops.

Ife ufgardt I 9eo | S o IRY | 6 Tt 96 hadt Th fo H MR A &
aut Jors # 10 fedt # it 2, A wew o warsy 5 forw urg i awf Sy % forg
fereh ARl BRf 3 Hha |

If 6 cm of rainfall occurs in one day in early June in western U.P. and the
same amount of rainfall occurs in July spread over a period of ten days,
state how and which one is more beneficial for agriculture.

fafaa s W@ ARt h @l & forw gfq g i i Aen @ shEd 39
foaRaw | g wremEl 61 dfteehar famivarsti & SR @ ot fafaw |
Write the seed rate and average yield per hectare obtained from irrigated

bajra and maize crops. Also, write about the nutritional traits of both the
crops.

frafafaa waet & I am fafex 1x5=5
()  Hmeeft

(i) =

(i) =mEad

(iv) =&

(v) AR

Write the scientific names of the following crops :
(1) Ground-nut

(i1))  Chickpea

(iii)  Rice

(iv) Berseem

(v)  Sorghum
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A T Fodl BATHl H TdIR =501 319 8 i 2 fiafiau |

How will you control weeds in fruit and vegetable orchards ? Write.

e FU Bl (FEHATIH) o T H HR HERY €9 § IR H fofeh ot gl 8§
T =R 2 ? QI ! foRIvaTg Wt fAReT |

Write about the difference between cut-flowers and ordinary flowers sold
in the market. Also, write about the specialities of both.

TSR T Rl iH] o THER o R § fRaw |

Write about the processing of carrot and cauliflower.
frefafaa w wfereg fewformr fofem -

() 5| T Sl

(i) @St Icared | “afeft 8 1 ANTGH

Write short notes on the following :

(1) Jam and Jelly

(ii))  Contribution of “poly house” in vegetable production

WA H AT U WS shl @ 3 Hiewdl i 3AUeT sgd Afees 2 | WH =i ?
T AT |

The consumption of potato and onion is much more than the other
vegetables in India. Why is it so ? Give reasons.

IR TieR Efestal % AW faflew | @ dem 6 T8 wEd J T HAfd =i
GUAIR Tesll & &9 # ot yafeld 8, 3T 10 §dEU | A Hesll & ®9 H g
Tafd # 7, Sdsy |

Write the names of four leafy vegetables. In rabi wheat crop, there is a
very common weed which is commonly used as a vegetable, name the
weed. Why is it so common as a vegetable ?

g Sfa & &1 Bt wd IR Wfscehar % wreey # Ha9 § fafau |

Write in brief about two popular citrus fruits and their nutritive values.

5 1,000



